Haawaa uaawuaa

XoH cyy xagranax 2 aryynaxtai. Aryynax Tyc 6ypa cyy xafaranax Har Har Tom cas, MeH 10,
10 XuXur xyBuH baitraa.

[aBaa raparT 2 aryynaxblHxaa cyy xagranax Tom casHyynnaa ar 1000 nutp cyy xagrancaH.

Msarmap rapart 1-p aryynax gaxb XWXUr XyBUHTyyAaac 1-MiAr Hb COHroX CYY Xaaranax Tom
caBHaac LY YpPrasg 2-p aryynaxt Xyprax cyy xaaranax ToOM caB pyy Y193/ caBaa TaHA33
OPXMCOH.

NxaBa raparT 2-p aryynax faxb XUXWUr XyBUHIyyaaac /OpXMCOH XyBUHT COHIOX 60NTHO/ Harunir
Hb COHIOX CYY Xaaranax TOM caBHaac Ay Yprasg 1-p aryynaxt Xyprax cyy xafaranax Tom
CaB pyy 0y 1337 caBaa T3HA93 OPXMCOH.

MypaB rapart 1-p aryynax gaxb XWXUr XyBUHIyyaaac /OPXUCOH XYBUHI COHroX 60/1HO/ Harunir
Hb COHIOX CYY Xagranax ToM caBHaac AYYPrasg 2-p aryynaxTt Xyprax cyy xagranax Tom
caB pyy 0y 1334 caBaa TaHA33 OPXMCOH.

BaacaH raparT 2-p aryynax naxb XWUXUr XyBUHryyaaac /0pXUCOH XyBUHI COHIrOX 60NHO/ Haruiir
Hb COHIOX CYY Xalranax ToM caBHaac Ay Yypraag 1-p aryynaxt Xyprax cyy xafaranax Tom
CaB pyy 10y 1337 caBaa TOHA93 OPXMCOH.

XoH baacaH raparuiiH opoit 1-p aryynax cyy xafaranax TOM CaBHbl XaMX33 X3[3H SiH3 60/1COH
Haiixbir COHMPXOX baiHa.

Input
1-p MepeHp 1-p aryynax gaxb 10 XMXUr XyBUHMUAH XaMX3ar unapxuiinax 10 6yxan 100
2-p MepeHA 2-p aryynax gaxb 10 XUXUr XyBUHIUAH XaMX33r unapxuinax 10 6yxan Too

Byx Xuxur xyBuHrninH xamxa3 1...100.

Output

BaacaH raparuiiH opoii 1-p aryynaxblH CYY Xagranax ToM caBHbl 6avix 6onox snraata XaMXa3HWiA ToO.

Example

Input:
1111111112

5555555555

output:
5

In this example, there are 5 possible results for the final amount of milk in the first barn's tank:

] 1000: FJ could carry the same bucket back and forth in each trip, leaving the total amount in the
first barn's tank unchanged.



1003: FJ could carry 2 units on Tuesday, then 5 units on Wednesday, then 1 unit on
Thursday, and 1 unit on Friday.

1004: FJ could carry 1 unit on Tuesday, then 5 units on Wednesday, then 1 unit on Thursday,
and 1 unit on Friday.

1007: FJ could carry 1 unit on Tuesday, then 5 units on Wednesday, then 2 units on
Thursday, and 5 units on Friday.

1008: FJ could carry 1 unit on Tuesday, then 5 units on Wednesday, then 1 unit on Thursday,
and 5 units on Friday.
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